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Question1:-Which of the following statement is/are correct about the NITI Aayog ?
i. Union Finance Minister is the Chairperson of NITI Aayog.
ii. NITI Aayog was established in 2013.
iii. Chief Ministers of all states are included in the Governing Council of NITI Aayog.
A:-Only (ii)
B:-Only (i and iii)
C:-Only (iii)
D:-All (i, ii and iii) are true
Correct Answer:- Option-C

Question2:-Which of the following is not a recommendation of the Sarkaria Commission ?
i. Setting up of a permanent inter-state council called Inter-Governmental council.

ii. Recommended large-scale curtailment of powers of the centre.

iii. Centre to consult states before making a law on a subject in the concurrent list.

A:-Only (ii)

B:-Only (i and iii)

C:-Only (iii)

D:-None (i, ii and iii) of the statements

Correct Answer:- Option-A
Question3:-Who among the following women was not a member of the Constituent Assembly ?

A:-Annie Mascarene

B:-Durgabai Deshmukh

C:-Dakshayani Velayudhan

D:-Aruna Asaf Ali

Correct Answer:- Option-D

Question4:-Which Article of the Constitution of India provides for free and compulsory education of all children in the age
group of six to fourteen years as a Fundamental Right ?

A:-Art. 21

B:-Art. 20

C:-Art. 20 A

D:-Art. 21 A

Correct Answer:- Option-D

Question5:-Which of the following statement is/are correct regarding Fundamental Rights in the Constitution of India ?
i. Art. 22 prohibits traffic in human beings and beggar and other similar forms of forced
labour.
ii. Art. 31 B offer exceptions to fundamental rights.
iii. Right to privacy is a fundamental right.

A:-Only (iii)

B:-Only (ii and iii)

C:-Only (i)

D:-All (i, ii and iii) are true

Correct Answer:- Option-B
Question6:-In which year the state of Telangana was formed ?

A:-2012

B:-2013

C:-2014

D:-2015

Correct Answer:- Option-C
Question7:-Which one of the following is not a feature of the *73”(rd)" Constitutional Amendment to the Indian Constitution
?  A:-Indirect elections to the posts of chairpersons of panchayats at the intermediate level and district level



B:-Reservation of seats to Other Backward Castes (OBC) at the village and intermediate level
C:-Finance commission to review the finance position of panchayats
D:-Five-year term to panchayats at every level
Correct Answer:- Option-B
Question8:-Which of the following statement is/are wrong regarding Directive Principles of State Policy enumerated in the
Constitution of India ?
i. Art. 44 states that State shall endeavor to secure for the citizens a uniform civil code
throughout the territory of India.
ii. By “44~(th)" Amendment Act to the Constitution Art. 39 A was inserted in the Directive Principles
of State Policy providing free legal aid to the poor by the State.
iii. Directive principles are justiciable.
A:-Only (ii and iii)
B:-Only (iii)
C:-Only (ii)
D:-All (i, ii and iii) are wrong
Correct Answer:- Option-A
Question9:-Who wrote the book 'The Modern State' ?
A:-T.H. Green
B:-Robert Dahl
C:-R. M. Maclver
D:-Thomas Hobbes
Correct Answer:- Option-C

Question10:-Which of the following statement is/are wrong about behaviouralism ?
i. Behaviouralism emphasised value laden study of political phenomena.
ii. 'Relevance and Action' was the slogan of Behaviouralism.
iii. Behaviouralism reached its zenith during the second half of the 197 (th)" century.
A:-Only (ii)
B:-Only (ii and iii)
C:-Only (iii)
D:-All (i, ii and iii) are wrong
Correct Answer:- Option-D
Question11:-Which of the following statement is/are correct about the concept of political culture ?
i. Parochial political culture is one where citizens pay close attention to politics and actively
participate in politics.
ii. Subject political culture is one where citizens identify with their locality rather than the
nation and have no desire to participate in politics.

iii. Participant political culture is one where citizens are passive and have only limited capacity
to influence government.

A:-Only (i)

B:-Only (ii and iii)

C:-Only (iii)

D:-None

Correct Answer:- Option-D

Question12:-Which of the following statement is/are correct about legal theory of sovereignty ?
i. John Austin argues that sovereignty need not rest in a determinate person.

ii. Disobedience to the imperatives of the legal sovereign invites punishment.

iii. Sovereign is not the only source of law.

A:-Only (ii)

B:-Only (iii)

C:-Only (i)

D:-None (i, ii and iii) of the statements

Correct Answer:- Option-A
Question13:-Who authored the book 'The Power Elite' ?

A:-C. Wright Mills

B:-John Rawls

C:-Max Weber

D:-Robert A. Dahl

Correct Answer:- Option-A

Question14:-Which of the following statement is/are correct about political socialisation ?
i. Political socialisation is always direct.

ii. Political socialisation goes on throughout the life of an individual.

iii. Peer groups are an agent of political socialisation.



A:-Only (i)
B:-Only (ii and iii)
C:-Only (ii)
D:-All (i, ii and iii) are correct
Correct Answer:- Option-B
Question15:-What is feedback in David Easton's input-output analysis of the political system ?
A:-Decision taken by the legislature
B:-Decision taken by the executive
C:-Judicial decisions
D:-None of the above
Correct Answer:- Option-D
Question16:-Which of the following statement is/are correct about Max Weber's ideal types of authority ?
i. Charismatic authority develops only because the earlier generations have accepted it.

ii. Legal-Rational Authority is attached to an office rather than a person.
iii. Traditional Authority is closely linked to hereditary systems of power and privilege.

A:-Only (i and ii)
B:-Only (ii and iii)
C:-Only (ii)
D:-All (i, ii and iii) are correct
Correct Answer:- Option-B
Question17:-Which one of the following statements is wrong regarding 'General Will' ?
A:-lt is the sum total of the 'Actual will' of individuals
B:-General will is absolute
C:-General will is rational
D:-General will is for collective welfare
Correct Answer:- Option-A
Question18:-Who distinguished the powers in a civil society or state as legislative, executive and federative ?
A:-Thomas Hobbes
B:-). J. Rousseau
C:-). S. Mill
D:-John Locke
Correct Answer:- Option-D

Question19:-Which of the following statements is/are correct about the Theory of social contract of Thomas Hobbes ?
i. Sovereign is not a party to the contract.

ii. The creation of the sovereign led to a civilised political society.

iii. The contract once entered cannot be revoked.

A:-Only (i)

B:-Only (i and ii)

C:-Only (ii and iii)

D:-All (i, ii and iii) are correct

Correct Answer:- Option-D
Question20:-Who authored the book 'A grammar of Politics' ?

A:-David Easton

B:-Harold ). Laski

C:-). S. Mill

D:-Harold Lasswell

Correct Answer:- Option-B

Question21:-Which one of the following statement is/are wrong regarding V | Lenin's ideas of imperialism ?
i. Imperialism is the first stage of capitalism.

ii. Capitalism will be necessarily superseded by socialism.

iii. Imperialism aggravates all the contradictions of the capitalist society.

A:-Only (i)

B:-Only (ii)

C:-Only (iii)

D:-Only (ii and iii)

Correct Answer:- Option-A
Question22:-Who made this distinction, 'self regarding actions' and 'other regarding actions' in his discussions on 'harm
principle' ?

A:-T. H. Green

B:-J. J. Rousseau

C:-J. S. Mill



D:-John Locke
Correct Answer:- Option-C
Question23:-Which of the following is/are correct regarding Karl Marx's theory of dialectical materialism ?
i. Marx based his theory on the writings of J. Bentham while developing his idea of dialectical
materialism.
ii. The world moves and changes constantly and the basis of this movement is the idea or
spirit.
iii. Fgr Marx, the material object is the basis of the world.
A:-Only (i and ii)
B:-Only (ii)
C:-Only (iii)
D:-Only (ii and iii)
Correct Answer:- Option-C
Question24:-Who authored 'The Prison Notebooks' ?
A:-Antonio Gramsci
B:-Friedrich Engels
C:-Antonio Gramsci and Gaetano Mosca
D:-John Rawls
Correct Answer:- Option-A

Question25:-In the USA, appointment of judges of the Supreme Court are made by the President with the consent of which
house/s of Congress ?

A:-The Senate

B:-The House of Lords

C:-The House of Representatives

D:-The House of Representatives and the Senate
Correct Answer:- Option-A

Question26:-Which of the following statement is/are correct about the Council of States in India ?
i. In the council of states, two-thirds of members retire every two years.
ii. Money bill can be introduced only in the Council of States.
iii. Art. 349 of the Constitution of India empowers the Council of States to legislate on matters
in the state list in the national interest.

A:-Only (i and iii)

B:-Only (i)

C:-Only (iii)

D:-(i, ii and iii)

Correct Answer:-Question Cancelled

Question27:-Which of the following statements is/are correct regarding the bi-party system ?
i. There are only two parties in the system

ii. There are two major parties in the system

iii. Bi-party system exists in France.

A:-Only (ii and iii)

B:-Only (i)

C:-Only (ii)

D:-Only (i and iii)

Correct Answer:- Option-C
Question28:-The Federal Council is the executive of which country ?

A:-Sweden

B:-UK

C:-Canada

D:-Switzerland

Correct Answer:- Option-D

Question29:-Which of the following statement is/are wrong about the proportional representation systems ?
i. Party-list system is well known proportional representation system.
ii. Parties are represented in parliament in direct proportion to their overall electoral
strength.
iii. Candidates are elected if they receive more than 30 percent of the votes in the election.

A:-Only (ii)

B:-Only (iii)

C:-Only (i and ii)

D:-None of the statements
Correct Answer:- Option-B



Question30:-Which of the following statement is/are wrong regarding interest groups and political parties ?
i. All interest groups are pressure groups.

ii. Aggregation of interest is an important feature of political parties.

iii. Political parties are multi-interest groups.

A:-Only (i and iii)

B:-Only (ii and iii)

C:-Only (i)

D:-None (i, ii and iii) of the statements
Correct Answer:- Option-C

Question31:-Which of the following statement is/are wrong regarding parliamentary and presidential forms of government ?
i. The Head of the State is the real executive in the parliamentary system.

ii. In the presidential system, the President directly initiates a bill in the parliament.

iii. In India, the Prime Minister is the Supreme Commander of the armed forces.

A:-Only (i and iii)

B:-Only (ii and iii)

C:-Only (i)

D:-All the (i, ii and iii) statements
Correct Answer:- Option-D

Question32:-Which one of the following statements is correct regarding the procedure for removal of judges of High Courts
and Supreme Court in India ?

A:-Judges of Supreme Courts are removed by the president upon an address to that effect being passed by a simple
majority of each house of parliament

B:-Judges of Supreme Courts are removed by the president on the reommendation of the Union cabinet

C:-Judges of High Courts are removed by the president upon an address to that effect being passed by a special
majority of each house of parliament

D:-Judges of High Courts are removed by the president on the recommendation of the Prime Minister
Correct Answer:- Option-C
Question33:-Which one is wrong about New Public Management ?
A:-New Public Management is also called New Public Administration
B:-The motto are Economy, Efficiency and Effectiveness
C:-Brings together the concepts of Public Administration and Business Management
D:-Promotion of competition within the public sector
Correct Answer:- Option-A
Question34:-Which of the following statement is/are correct about Comparative Public Administration ?
i. The field of study emerged immediately after the First World War.
ii. It emerged as a branch of study under New Public Management.
iii. Focussed on theory building and the administrative problems of developing countries.
A:-Only (ii)
B:-Only (i and iii)
C:-Only (iii)
D:-Only (i)
Correct Answer:- Option-C
Question35:-Which of the following statements is/are correct about New Public Administration ?
i. Emphasis on social equity for achieving human development.
ii. Emphasis on efficiency, economy and centralisation.
iii. Client-oriented bureaucracy.

A:-All (i, ii and iii)
B:-Only (i and iii)
C:-Only (iii)

D:-Only (i and iii)

Correct Answer:- Option-D
Question36:-Who edited the work 'Public Administration in a Time of Turbulence' ?
A:-Frank Marini
B:-Woodrow Wilson
C:-L. D. White
D:-Dwight Waldo
Correct Answer:- Option-D



Question37:-Choose the correct statement about Minowbrook-I and Minnowbrook-II conferences :
i. The second Minnowbrook conference was held in 1968.
ii. The mood of Minnowbrook-Il was confrontational and radical while that of Minnowbrook-I
was more pragmatic and practical.
iii. Minnowbrook-I laid emphasis on leadership, technology policy and economic perspectives
while the Minnowbrook-II laid emphasis on social equity, change and client-focus.
A:-Only (i)
B:-Only (ii and iii)
C:-Only (iii)
D:-None (i, ii and iii) of the statements
Correct Answer:- Option-D

Question38:-Who defined Public Administration thus - "Public Administration is detailed and systematic application of law ?
Every particular application of law is an act of administration".

A:-L. D. White

B:-Luther Gulick

C:-W. F. Willoughby
D:-Woodrow Wilson
Correct Answer:- Option-D

Question39:-Which one is/are correct regarding the attributes of bureaucracy according to Max Weber ?
i. Selection by merit

ii. Non-hierarchy of offices

iii. Strict adherence to rules

A:-Only (i)

B:-Only (ii)

C:-Only (i and iii)

D:-All (i, ii and iii) are correct
Correct Answer:- Option-C

Question40:-Which one is not a feature of the Public Choice Approach ?
i. Bringing more competition in public services.

ii. Centralisation of administrative authority.

iii. Privatisation or contracting out to reduce wastage.

A:-Only (i)
B:-Only (ii and iii)
C:-Only (ii)
D:-(i and iii)
Correct Answer:- Option-C
Question41:-Which of the following is/are not an element/elements of national power ?
i. Geography
ii. Military power
iii. Government
iv. Justice
A:-None of the above
B:-Only (i and iv)
C:-Only (iii and iv)
D:-All the above
Correct Answer:- Option-C

Question42:-Who said that "The minimum requirement of nation-states is to protect their physical, political and cultural
identity against possible encroachments by other nation-states."

A:-Kenneth Waltz's

B:-Thucydides

C:-Hans Morgenthau

D:-Mearsheimer

Correct Answer:- Option-C
Question43:-Who among the following is an exponent of Neorealism ?

A:-Thucydides

B:-Kenneth Waltz's

C:-Spinoza

D:-Machiavelli's

Correct Answer:- Option-B



Question44:-Which of the following statement/statements is/are correct about International law ?
i. States have legal responsibilities in their conduct with each other.
ii. International law also regulates the global commons, such as the environment and
sustainable development.
iii. States have legal responsibilities in their treatment of individuals within State boundaries.
A:-All the three
B:-Only (i and ii)
C:-Only i
D:-Only ii
Correct Answer:- Option-A
Question45:-Which among the following factors have not led to unipolarity in International politics ?
i. End of cold war
ii. Disintegration of the USSR
iii. Super power status of USSR
iv. Disintegration of USA

A:-Only (iv)
B:-Only (iii and iv)
C:-Only (iii)
D:-Only (ii, iii, iv)

Correct Answer:- Option-B
Question46:-According to George Schwarzenegger collective security is
A:-"One for all and all for one is the watchword of collective security."
B:-"It clearly implies collective measure for dealing with threat to peace"
C:-"Collective security as machinery for joint action in order to prevent or counter any attack against an established
International order".
D:-"Collective security is basically a mutual insurance plan against aggression anywhere and everywhere".
Correct Answer:- Option-C
Question47:-Which of the following statement/statements is/are correct about determinants of foreign policy ?
i. Geography, history, culture, traditions are more or less permanent markers.
ii. Degree of economic development, personality of top leadership, as well as ideological
orientations are changing Markers.
iii. All the determinants of a country's foreign policy are in the nature of given variables that
can be changed at the wish of the country.
A:-Only (i and ii)
B:-Only (iii)
C:-Only (i and iii)
D:-All the above
Correct Answer:- Option-D
Question48:-Which of the following statement/statements about dependency theory is/are wrong ?
i. Dependency theory seeks to explain the causes of economic development and
underdevelopment.
ii. It evolved in Latin America during the 1960s.
iii. Dependency writers treat social and economic development of underdeveloped countries as
conditioned by external forces.
A:-Only (ii)
B:-Only (i and iii)
C:-None of the above
D:-All the above
Correct Answer:- Option-C
Question49:-Which among the following statement/statements is/are correct according to Rajaram Mohan Roy's thought ?
i. Social reform was intimately connected with political reform.
ii. He advocated a blend of western science with Indian traditional values.
iii. He was against all the ancient practices of Hindu tradition.
A:-Only (iii)
B:-Only (i and ii)
C:-Only (ii)
D:-All the above
Correct Answer:- Option-B
Question50:-Which among the following categorizations is/are correct ?
i. Bala Gangadhara Thilak - Total Revolution.
ii. Gopalakrishna Gokhale - Liberal Nationalism.
iii. Jay Prakash Narayan - Extreme Nationalism.
iv. Ram Manohar Lohia - Socialism



A:-Only (ii)

B:-Only (i and ii)

C:-Only (i and iv)

D:-All the above

Correct Answer:- Option-C
Question51:-"Awake, arise and stop not till the goal is reached". Who said this ?

A:-M. N. Roy

B:-B. R. Ambedkar

C:-M. K. Gandhi

D:-Swami Vivekananda

Correct Answer:- Option-D

Question52:-Which of the following statement about M.K. Gandhi's ideology ?
i. End must be right

ii. Means must be right

iii. Only means must be right

iv. Only end must Right

A:-Only (ii)

B:-Only (i and ii)

C:-None of the above
D:-All the above

Correct Answer:- Option-B

Question53:-Which of the following statement/statements about B. R. Ambedkar is correct ?
i. He participated in the First Round Table Conference.

ii. He participated in the Second Round Table Conference.

iii. He participated in the Third Round Table Conference.

A:-Only (ii)

B:-Only (i and ii)

C:-Only (i and iii)

D:-All the above

Correct Answer:- Option-D

Question54:-Gopalakrishna Gokhale supported British rule in India because
i. British rule had set in the process of modernization of the Indian society.
ii. British upheld the concept of equality before the law.

iii. He was a blind admirer of British liberalism.

A:-Only (i and ii)

B:-Only (ii)

C:-Only (i and iii)

D:-All the above

Correct Answer:- Option-A

Question55:-Which among the following statements are correct according to Jaya Prakash Narayan ?
i. Socialism shall come through dictatorship of the proletariat.

ii. Socialism should evolve through democratic process.

iii. Socialism which has equality ensures freedom.

A:-Only (i and ii)
B:-Only (ii)
C:-Only (ii and iii)
D:-All the above
Correct Answer:- Option-C
Question56:-What is 'Agenda 21'?
i. A blueprint to promote equality.
ii. A blueprint to promote sustainable development.
iii. A concept promoting economic growth while protecting environment.
A:-Only (i and iii)
B:-Only (ii and iii)
C:-Only (i and ii)
D:-All the above
Correct Answer:- Option-B
Question57:-Which among the following statements are correct ?
The major objectives of Nehru's foreign policy were
i. To preserve the hard-earned sovereignty
ii. Protect territorial integrity
iii. Promote rapid economic development



A:-Only (i and iii)
B:-Only (ii and iii)
C:-Only (i and ii)
D:-All the above
Correct Answer:- Option-D

Question58:-India signed the treaty of peace and friendship with
A:-USA during the reign of Indira Gandhi
B:-Soviet union during the reign of Indira Gandhi
C:-USA during the reign of Nehru
D:-Soviet Union during the reign of Nehru
Correct Answer:- Option-B

Question59:-Which among the following is NOT an outcome of the disintegration of USSR ?
i. End of the ideological war between the US and USSR.

ii. Change in the balance of power in the world order.

iii. Emergence of Multi-polar world.

A:-Only (i and iii)

B:-Only (ii and iii)

C:-Only (iii)

D:-None of the above

Correct Answer:- Option-C
Question60:-Choose the correct chronological order of the following arms control treaties.

A:-START, SALT, NPT, LTBT

B:-LTBT, NPT, SALT, START

C:-SALT, START, LTBT, NPT

D:-LTBT, NPT, START, SALT

Correct Answer:- Option-B

Question61:-Which of the following Statement/statements about ASEAN is/are wrong ?
i. ASEAN was established on August 8, 1967.

ii. There are 9 member states in ASEAN.

iii. Usually, ASEAN Summit Meetings shall be held thrice annually.

iv. The 417 (st)" ASEAN summit was held in Cambodia.

A:-Only (i and iv)
B:-Only (ii and iii)
C:-Only (iii)
D:-All the above
Correct Answer:- Option-B
Question62:-0On 28 September 2001, the UN Security Council adopted its resolution 1373 (2001). What does it deal with ?
A:-Disarmament
B:-Ethnic conflict
C:-Counter Terrorism
D:-Sustainable development
Correct Answer:- Option-C
Question63:-Choose the correct chronological order of UN conventions on Human Rights.
A:-ICERD, ICCPR, ICESCR, CEDAW
B:-ICERD, ICCPR, CEDAW, ICESCR
C:-ICERD, ICESCR, CEDAW, ICCPR
D:-ICCPR, ICESCR, CEDAW, ICERD
Correct Answer:- Option-A
Question64:-Choose the correct statement/statements about Panchayat Raj in Kerala.
i. Panchayati Raj System in Kerala began with enactment of Panchayati Raj Act in 1994,
ii. The Chairpersons of all the three tiers are elected through indirect elections.
iii. The SEC also conducts elections to the District Planning Committees.
A:-Only (i and iii)
B:-Only (ii and iii)
C:-Only (iii)
D:-All the above
Correct Answer:- Option-D
Question65:-Which of the following statement is/statements are correct about social reform movements in Kerala ?
i. Shanar Agitation by the untouchables was for the right to dress like untouchables.
ii. Guruvayoor Satyagraha was a movement for temple entry and abolition of untouchability.
iii. Mahatma Gandhi called Guruvayoor Satyagraha as the bed-rock of freedom.



A:-Only (i and iii)

B:-Only (i and ii)

C:-Only (iii)

D:-All the above

Correct Answer:-Question Cancelled

Question66:-Which of the following statement is/statements are wrong about Coalition politics in Kerala ?
i. The first coalition Ministry in Kerala was formed in the mid-term elections of 1960.

ii. Shri. C. H. Muhammad Koya from UDF was sworn-in as Chief Minister on October 12, 1979.

iii. P.K. Vasudevan Nair formed the coalition government with support of Congress Party.

A:-Only (i and iii)

B:-Only (ii)

C:-Only (iii)

D:-All the above

Correct Answer:-Question Cancelled

Question67:-Why was the Kerala Agrarian Relations Act (IW) passed in 1960 a failure ?
i. It introduced new exemptions regarding land transfers.

ii. High Court of Kerala declared it ultravires.

iii. The bureaucrat resisted to implement it.

A:-Only (ii)
B:-Only (ii and iii)
C:-Only (iii)
D:-All the above
Correct Answer:- Option-A

Question68:-People's plan launched in Kerala in the year
A:-1993
B:-1994
C:-1995
D:-1996
Correct Answer:- Option-D

Question69:-Which one of the following categories is the correct about state parties (other than National) of Kerala ?
A:-Kerala Congress (M), Janata Dal (Secular), Revolutionary Socialist Party, Indian National Congress
B:-Communist Party of India, Janata Dal (Secular), Revolutionary Socialist Party, Indian union Muslim League
C:-Kerala Congress (M), Janata Dal (Secular), Revolutionary Socialist Party, Indian Union Muslim League
D:-Kerala Congress (M), Janata Dal (Secular), Communist Party of India, Indian Union Muslim League
Correct Answer:- Option-C

Question70:-Which among the following statement is/statements are correct about Domestic violence Prohibition Act ?
i. Domestic Violence includes Physical, sexual, verbal, emotional and economic abuse.

ii. Aggrieved person is only the wife.

iii. Allows magistrates to impose monetary relief.

A:-Only (ii)
B:-Only (i and iii)
C:-Only (ii and iii)
D:-All the above
Correct Answer:- Option-B
Question71:-Which one of the following is obstructing learning process ?
A:-Motivation
B:-Attention
C:-Fatigue
D:-Interest
Correct Answer:- Option-C
Question72:-Brain Storming Teaching method help the students
A:-Generate broad variety of ideas
B:-Helps the students use their imagination
C:-It helps to evaluate the pros and cons of each ideas
D:-All the above
Correct Answer:- Option-D
Question73:-Which one of the following is not the advantage of project method ?
A:-It follows all the basic law of learning
B:-The students did not get full freedom
C:-Promote cooperate activity



D:-It helps for learning by doing
Correct Answer:- Option-B
Question74:-What do you mean by the term Role plays ?
A:-Case studies
B:-Discussion of specific topics
C:-An informal dramatization
D:-Problem solving
Correct Answer:- Option-C
Question75:-Critical views on educational evaluation system is
A:-lt create anxiety
B:-It categorize and label students
C:-It involves subjectivity and personal bias
D:-All the above
Correct Answer:- Option-D

Question76:-"Reality is constantly changing and that we learn best through applying our experiences and thoughts to
problems, as they arise" - which metaphysical school of thought believes like this.

A:-Idealism
B:-Realism
C:-Pragmatism
D:-Existentialism
Correct Answer:- Option-C
Question77:-Theory of moral development was propounded by
A:-Erik Erickson
B:-Jean Piaget
C:-Sigmund Freud
D:-Lawrence Kohlberg
Correct Answer:- Option-D
Question78:-"Learning by insight" is the contribution of
A:-Operant conditioning
B:-Gestalt psychology
C:-Classical conditioning
D:-All of these
Correct Answer:- Option-B

Question79:-According to Bandura, the processes or steps involved in social learning are
Arrange them in a correct order.

A:-Converting the memory into action, attending to and perceiving the behaviour, remembering the behaviour,
reinforcement of the imitated behaviour.

B:-Attending to and perceiving the behaviour, remembering the behaviour, converting the memory into action,
reinforcement of the imitated behaviour.

C:-Reinforcement of the imitated behaviour, converting the memory into action, remembering the behaviour, attending
to and perceiving the behaviour.

D:-None of these
Correct Answer:- Option-B
Question80:-"Swaraj and Swadhesh" these two terms taken together to represent the type of society introduced by
A:-Mahatma Gandhi
B:-Rabindranath Tagore
C:-Swami Vivekananda
D:-Aurobindo
Correct Answer:- Option-A
Question81:-The Indian Federation is based on the idea of Federal principle from the Constitution of
A:-USSR
B:-Canada
C:-United Kingdom
D:-USA
Correct Answer:- Option-B

Question82:-Which one of the following is correct as far as Fundamental Rights are concerned ?
I. Some Rights are available to Foreigners also.

II. Included in Articles 12 to 35.

Ill. Meant to ensure social and political democracy.

IV. Absolute in character.

Choose the right one.



A:-IV and llI

B:-1, 11, 11l

C:-IVand |

D:-IVand Il

Correct Answer:- Option-B

Question83:-Identify a WRONG answer from the following statement regarding preamble of the Constitution of India ?

A:-The terms : socialist, secular and fraternity were inserted in 1976
B:-Preamble is embodiment of the spirit of objective resolution
C:-Supreme Court stated that preamble is integral of part of Constitution
D:-Borrowed this idea from the US Constitution

Correct Answer:- Option-A

Question84:-According to the Constitution of India; the emergency is proclaimed by the President; select the right answer.

A:-After the recommendation of Union Cabinet
B:-After the approval of Parliament

C:-After the endorsement of Supreme Court
D:-After the advice of Attorney General
Correct Answer:- Option-A

Question85:-Choose the right answer from following options regarding Amendment of the Constitution ?
I. 1. R. Coelho Case (2007) curtailed the scope of Ninth Schedule.

Il. “24~(th)" Amendment added Sindhi language in "8 (th)" Schedule.

Ill. Certain types of Amendment Bill shall be approved through joint sitting of parliament.

IV. State legislatures can reject an Amendment Bill.

I\

B:-IV, II, I

C:-Il, 1

D:-1, 1l

Correct Answer:-Question Cancelled

Question86:-Sakshi, the Non-Governmental organization is related with

A:-Democracy Advocacy
B:-Women's Rights
C:-Anti-corruption
D:-Environmental Protection
Correct Answer:- Option-B

Question87:-Who was the first Chairperson on National Commission for Protection of Children (NCPCR) ?

A:-Kailash Satyarthi
B:-Renuka Chowdhari
C:-Shantha Sinha

D:-Ela Bhatt

Correct Answer:- Option-C

Question88:-What is NOT a salient feature of National Food Security Act, 2013 ?

A:-National Grievance Redressal Mechanism
B:-State Food Security Commission

C:-Food Security Allowance

D:-Maternity Benefit

Correct Answer:- Option-A

Question89:-Which one is the right answer as far as National Tiger Protection Authority is concerned ?
|. Statutory Body

Il. Based on Wild Life Protection Act

Ill. Administering Project Tiger

IV. Created in 1973

Select the right answer.

A:-l, IV only
B:-IV and Il
C:-land Il only
D:-I, Iland Il

Correct Answer:- Option-D



Question90:-What is right answer in the case of MGNREGA ?
I. National Advisory Council headed by Prime Minister

Il. Guarantee of 100 days work/rural household

1. Right to work became fundamental rights

IV. Centre allocated more funds for financial year 2022-23

Select right answer.

A:-land Il only
B:-IV and Il
C:-land IV only
D:-Il only
Correct Answer:- Option-D
Question91:-In 1902 the SNDP Yogam was registered as
i. Primarily a religious association
ii. Joint-stock company
iii. Political party of the Ezhavas
A:-All of the above (i, ii and iii)
B:-Only ii and iii
C:-Only ii
D:-Only i and iii
Correct Answer:-Question Cancelled

Question92:-The reformer who believed in Yoga system of Philosophy
i. Chattampi Swamikal

ii. Vagbhatananda

iii. Brahmananda Sivayogi

A:-Only iii

B:-Only ii

C:-Onlyi

D:-None of the above
Correct Answer:- Option-A

Question93:-The paper Swadeshabhimani was owned by
i. Vakkom Abdul Khadir Maulavi

ii. K. Ramakrishna Pillai

iii. T. K. Madhavan

A:-Only iii
B:-None of the above
C:-Onlyi
D:-Only ii
Correct Answer:- Option-C
Question94:-The novel Bhranthalayam was written by
i. P. C. Kuttikrishnan
ii. Kesavadev
iii. Cherukad
A:-Only iii
B:-Only ii
C:-Onlyi
D:-None of the above (i, ii and iii)
Correct Answer:- Option-B

Question95:-The woman elected to the Shree Mulam popular assembly for the period 1932-34.
i. Akkamma Cheriyan

ii. A. V. Kuttimalu Amma

iii. Anna Chandy

A:-Only i

B:-Only ii

C:-Only iii

D:-None of the above (i, ii and iii)
Correct Answer:- Option-C

Question96:-The preamble of the Indian Constitution
i. Is an introductory statement that explains the document's philosophy and objectives.
ii. It declares the nation's commitment to secure justice, liberty and equality.
iii. It lays down the objectives of the Constitution.
A:-Only i and ii
B:-Only iii



C:-Only i
D:-All of the above
Correct Answer:- Option-D
Question97:-The Stock Exchange that is nicknamed Big Board
i. Tokyo
ii. London
iii. New York
A:-Only i
B:-Only ii
C:-None of the above
D:-Only iii
Correct Answer:- Option-D
Question98:-An amendment to the Constitution can be initiated as follows :
i. Passing of Bill in both Houses of Parliament.
ii. Bill passed only in Lok Sabha.
iii. Bill sent to President for consent.

A:-Only i

B:-None of the above
C:-Only iii

D:-Only ii

Correct Answer:- Option-A

Question99:-Act that does not regulate organ donation in India
i. Transplantation of Human Organs and Tissues Act, 1994

ii. The Transplantation of Human Organs Rules, 1995

iii. National Organ Transplant Act, 1984.

A:-Only i
B:-Only ii
C:-Only iii
D:-i and iii
Correct Answer:- Option-C
Question100:-Which state in India enacted the Food Security Act at first ?
i. Kerala
ii. Chattisgarh
iii. Punjab
A:-Only i
B:-None of the above
C:-Only iii
D:-Only ii
Correct Answer:- Option-D



